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£
e "—4')+ x4
L Which f the folowing member s cighteca | o Whatisthovatacor 841928 1¢,

million cighteen thousand and cightoen? 7
A. 18 180 01K g2 99D i 2314 +32 q
B. 18 180 180 12978 :f ::5 e 34
G 1K 018 018 - —
_-___________-- t{ 14 &
2. Which of the following inequality is | 8. 12 tonnes of meize was sharod lyw —F
CORRECT

fmilies in lunger stricken arca. 1 cach family

A 075 <7.5% got Sk of maize How many families L4
- hencfited? \LLED
HIAA" A 24 =1
C. § >40% i 24 |
D03 1% | ¢ 240 ~ |
1. 2408~

3. Whit is 3699.466 rouided off 1o two

decimal places? 1% 9. Kerubo deposited sh.120 000 in u bank
A. 369949 %4q 3.

that paid simple interest ol the rate of 12%
B 3659 00 I per annum. What wos the amoun that
C. 370000 Kerubo paid afler two yzars?
D3699.90 A. Sh.28 800 e
B. $h.148 800 250
4. A school hay i papulstion of 420 pupils € S5h.14 400 &
Each pupilis givena 2.2:1 packets of milk D. Sh.134 400 le ot
perweek . How imany Bircs do they consume .i
in thive weeks? My 10. The area of » square garden is 62 500m?.
A. S04 Lo What is twice its perimeter
B 504 TR - A. 1000m
S b B. 2000m ¥
13, 50400 <5 C. 250m
). 500m
S.

How many groups of hundreds an there in
digit 3 of the number 236575 o= 1.

Lo Shirleen woke up at 0638hrs afer sleeping
A 300 ~ Tor Bhis 45mun. AL what ﬂu:h]ﬂu;ﬂq:[?
B 30 A 953pm
C. 3000 B 323pm
D. 30000 C. 95%am
0. 323am
6. Whatixthe sum of LCM and GCD HCF) | .
of the number 12, 18, 30 12, Kmmﬂhlllﬁhlmﬁ.‘ﬁl‘.m |
A ARG for sh.35 200, How much profit would have
5 3 be b maukeihe sokd it making 15% grofir?
L 186 o L AL 1 A. Sh.40 0pg
D174 {_%__3.15 . Shé 000
GJ | 25 l C. Sh.10 gog ’
D !
=Y hﬁ.g Sh.46 000
.5 ! |'E-.
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13.

14.

15.

IT'

What is the value of x in the equation?
M+I~£=II
4 -
A 33
B 4%
C. 24
D. 6%
5 3 4 2
The followirg fractions —. -E'j'—lnd 3
are to be arrenged in order form the largest
to the smallest. Which is the CORRECT
urder?
g
£ 92 1 6
2 5 1 4
o B
1'6'8° 9
C. f‘ } :‘.‘ .2. v
9 8 6 3 )
w2431
a3 98

L.

Ko and Kelvin shanad some aroney inthe
ratio 34 ! Ken got sh.6000 lcss than
Kelvin, bow much did they share altogether?
A. Sh.18 000
1. Sh.42 000
. Sh.24 000
1. Sh.36 000

What is the value of
J6-1.2+24x4+024"

A3
. 4.24
C. 1.84
1). 2.84

‘I he road on a map 35km is represented on
a meap by Tem on map. What is the scale
I.md'r

A 1:350€

B. 1:5000

C. 1: 50000

D. 1: 500000

i

19.

20.

21.

I'he fe llowing arc characicristics 04 3
gueadrilateral.

i) owe pairs of parallel line.

(i) inieriar angles are equal

{tH) diagonols are equal

{iv) The disgonols bivect af right angle
The quadritateral described sbove s

A rhombus

A recionglic g

C. square _

D. paraliclogram R
ﬁ{h ”1]. Wi

What is the value of T
a'h

I':.b=_1£ﬂ.ﬂ-fii"—l"

A 3% ¢
n izt =
¢ -ﬁ — s
D 24!

What is the capacity in litres of a cvlindnical
contminer whaose diamever s 2B nod &4
hwight o S0em

A 1E<801

1 1848l

C IB48l

0. 1848l

Njeri had 5-500 shillings moics, 12-200
shillings notes and 14- 100 shillings nowes. He
decided to change all the money into 50
shillings notes. How mem notcr did be get”
A 6700

B. 126

C. 50

D 116
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22. The triangle ABC below is drawn 1o senle

“
\1
.H‘
N
,
A
- Mg
What ix the sizs of angle ACH" 235, Acinck joses 1on secands every e 101
:: K Wi 01 correct on Mangte 50 Stkun. What
i obied T 2ty il ol le s i
b o Allowing Monday the
D. 59 Lo
3 L. 9SEam
. Inthe i T 9 3kam
gure below line ABC is paralle! 1, D 10. %% 4

line DEFG. Angle CBF = \nglc k¥

24, Jackline bought 200 mangos in pikes o S at
30 shillings per pile. She spent sh 100 on
ﬂ,wg o t: I;T;:uld cach mango n

- Wi e porcentage
profit?
A 20%
B 50%
C. 16%
D, 25%

[

26. Charles paid i 4 BUD Fivim #n ftem afler
eetli vg 20 discount  1low much e
would he have paid o b wys given 13%
A Sh S oo
" Sh. 0
C. 5.0
Y. Sh.ind

1?. Cnbeulote thw b ol e

\_

i

¥

i

i

i

|
]

1

!
-

lignre boborw

3,

A, Wl
H. YWRew'
. 602¢m
D 9liem
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28.

29. The table below shows the number of

Saruni bought the following item from a

shop.

3 half litre packets of mitlk @sh. 535
dkg rice @ sh. 112

44 lires of cooking oil (@sh. 136

Jkg sugar (@ sh. 120
3 rolis of tissue for sh.150

Ifhe paid using 2- 1000 shillings notes how
much balance did she get?

A. Sh.l 623

B. Sh.1923

C. Sh.377

D. Sh.77

children per family in an cstate

No.offumilies ] 2| 3 | 4 | § [

No. of children . Alx 2

pet family 13

30.

How many children are there in the estate”
A. 63 '
B. 20
C. 15
D. 45

What is the valuz of
| L
;'{Ii""'%”: 1?-)“

A 4}
B 2%
C. 2%
D. 33

Which of the Tillowiag expresaion i the

spmiplast form ol

E{ﬁ.n-JHl_-{-}_[: . E,vj,_,

o =~2¥)
X+ ) B f_"'_,ii'.
T T x=2y
15c+ 12y E_Jil!;f.
. o ol D. 2y + Ax

Jx 6w

1 ] d

32.

33.

34.

35.

36.

Jalss is a salesman and carns o basic salary
of sh.19 000 and a 2.5% commission on the
sales he make nbove sh.50 000. In one
munth he sold goods worth 450 000. How
miuch did he carn that month?

A. Sh.10 000

B. Sh.29 000

C. Sh.11 250
D. §h.30 250

Chanity is four times as sold as her daughter.
She is slso six ycars younger than her
hushand. The sum ufth:'.ir;lgﬂl:i:_nr:ﬂ'l'm
come will be 117 years. How old is Charity
wday’
A 36
B. 40
C 30
n. 46

The figure below isa net of a solid.

+
e
E' S : e
.._.-.-.q—“—'——
> B!
Sk ]

Whern folded which solid was formed?
A Tnanpuler prremid

B Rectnguiar prism

C. Irienguiar prism

D. Squire pyramid

o muny day - were there between 24th
December 2020 10 315t March 20217 *
A B
B 97
C. a9
D %W

Nine pupils seored the follawing marks out
ol 50w a seience 1esl,
37 N2.47,28.79, 43, 42, 16 ond 38

v hat was the sum o mean awl median’
. 38
B o
C. 16
b 77
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0825tes aficr trave tof 1 2m. IFthe tank is % full how many
45min from Nairobi. Whﬁﬁ:ﬂ :ﬂ litres are required 1o fill the tank?
Sk et A 166321
A. Wednesday 10.40pm B, 4 1581
B. Wednesday 6.10pm C. 124741
(- Tucsday 10.40um D. 5 1581
1. Tucsday 10.40pm
o | 42. The hine purchase price of'a generstor is 30%
38, dimgram below shaws an isosceles more tham the marked pnce. The nwk:;d
wiangle ARC whose perimeter is S0cm. |ine orice is sh.200 000, Koech bought iton hire
AW 1 Tom purchase paying 17 equal monthly instabments
af sh.15 000, How much was the deposit?
1 A Sh 260 00G
B. Sh. 180 000
C. Sh.120 000
1. $h.80 000

43. Ihe able below shows the amount in litres
o a milk prodaced by a cortain farm in onc

LN

week, Ibe production [or Tuesday is not
AT,
1Mass al
i X0y LY I Wed ur| bn . i
What is the arcof the triangle? ot b Voot b i A Bd
A. IE&mf . - m::“"m ) 91| k| 37| 2
B 2d0cn | g Lwlires § 77} l 2
- .‘.?I:m: - Hiews masy merefitres of milk were delivered
. Mfem? on Tuesday than on Monday il the woal
amciant eollec ed that week was sh o 720
39. Kantct drove from Kimang to Emali ot a and thecasi of anc litre of milk wis sly 40
copsiant speed of B4km/h for 2%hours. 1ie A I
drove back taking three hours 1o reach B 6
Kimana. What was the average speed for <. 5
tine whale journey? st
A TOkm/h
B. 66 i knvh 44, A Eroup of 36 thien coan Jo 5 job in 24days,
C. 76 km/h le it e o would the job take if
D A men b bk ey
AR
B 32
40. By selling a TV for sh. 45 000 Njeri made C W
10% loss. Al what price should he have 12
sold the TV 10 make 5% prodit.
A. Sh 50 000
B. Sh.12 500
C. Sh.47 250
D. Sh.52 500



45.

46.

A rectangular waler tank measures 6lem by
50cm by 30cm. That tank contain water (0
a height of 0.18m. How many more litres
are needed 1o fill the tank?

A. 54 0001

B 541

C. 360001

1. 36l

I'he graph below shows the mamber of pupils

attendance per day in one week ina class of
50 pupils.
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Days of the week

What was the mean attendance for the
week?

A. 215
B. 45
.50
D 43

|

| ]
47.

48.

49,

W

Which of the Tollowing is the next number in
the sequence?
4,9 16,

A 29
B. 25
C. 27
n. 3l

Mathematic text boak has mess of 0.4kg.
40 such books ure packed in u carton whose
empty mass is 300 grams. What is the total
mass in kilograms of 50 such cartons packed
with boaks?

A. BOUkg

B. B15kg

C. 720kg

D. 820kg

In a farm the number of animals arc 288. Out
of these 72 arc cows and 96 arc sheep, Half
of the remainder are goats and the rest are
chicken. I7a pie chart was drawn, what angle

would represent chicken?

A. 90°

B. 120°

C. o0*

D, 75°



